


- for the following, we've some substitutions :-

u-> X

62+82

6+ 8

p-

where X = Ex
* sampling distribution at

-> ~N(u,)Canbiased estimator)

Zw population variance : -

-

E-distribution
is used

= Qdf(n-1)

* Interval estimation :

CL ,
2) is our confidence internal ↳I-Alpha is cratide to level

p((0(0) = ta

Enti
-u

-
Lafidence
interi



* for the confidence Intel

( , u]

(X - E , X + El

(x - 25/X +2)

-> t = Za(margin Error
- 2.=

-> Critical Valle : 2

-> Length at interval (width) : L = 2 E

A Notes : -

1) If pop.
Var is known , hid 2.I

for a by :

( * -Z,
2) If pop var is unknown,

(x - tq-X + taimg)

3)If > 200 &62; unknow ,
use z

(X - zq ,X +z)



-> Notes :-

1) Asn inc ., Edes R Cl becomes narrower in more
precise

2) As C . Linc .,
E inc . so C . l inc becomes wider

sor) 2002) 0 .62)
-~0 .90 -si 0 .

95/

-- -

confidence Confidence interna

Internal

* for Determing Sample size (n) :
2

= za .g : n = (*)
L = 2E
-> If you get a fractive ,

round up !!

DDon't be a bitch)



* Distribution at Sample Propotn()
-

> This is basically when we're talking about

taking a sample of the populatine K Hudging it.

-> Here the proposio is p but sample is 50

-> Nen) onl if apges

-> z= N

* for the C . I

=

- = Eu
-> ( ,Y

( - E, + E)

-za+
-> t =z8E :Fona



* for finding Sample size (n) . - for C. I

=zen=

↑ Fin givenininati 8 = 0 . 3

Length (4) = 2 E



↓ fammas Book Questions : -

normal With UKG2

Q . 1) if n is Large, Sample
mean is apprximents

~N(i)
Q .2) X=8 0: n = 10

1) PECA) 2) P(xx7) xP(x29)
P P P(x() - P(k(7)

PE -1 .37) P(zC-117) -P
PEG1 :37) C.

B
PE <1. 37) Cul . A

PE1 . 17) - PEC-1 . 3)⑳s 247
PECI)

- PEY
Q.3) X = S. 2 6: 2. 28 has = 0 . 9141-0 . 005

=
P((2-0)

P
PL - 1 .03)

= Perus)Bo
Q.4) x = 120 6= 10 his

P(0cX < 123)

P((12) - &( <2y

&EL -P0 .9312 -
0.

= 0 .
4312



Q . S) X = 2006= /S 12S0

P(X; = 6060) X = Exi

p(66

↓PezP(xGs)
&(10 .73)

P(X2202)

Q . 6) X =120 6: 10 n=2S Joth percentile

XwN(20 , 103 -> ~N (10, )

P(1920) = 0 .
3

p :o
-110 . 96

Poo
Q.1)
1) PE>2 .3) df32) PECP) 201 d7(60)

"y
1 - P(C23s) dAS Plo = 1. 296 but

1- 0 . 9) = 0 .6)
- 1 .246



3) PE31 %) 4)((t 97 . 55=
0 . 4 d7(7)

P((99%) =
04d1 (6) P(0 .9)

=df(7)

Post =2 . 3G)P(0 .9)
:"It 16 *
↳2 .

sa

Q. 1) X = 3 n = 10
6: 2

2) P((Pao) = 0 .90 af(9)

1) 0 ( (416)

P P3) = Is

PE) < 103) df(9) Pau -3
- = 1 - 30]

2/$u

s =3. 07

QS) n= 16 X=20 I a=

P(x() = 0 . 06 ↳ 1 17

S E2 . 19PE =0 S
PE = 0 . 95 d



Q.4) dfDSS 0 .90 butene

So 0 .9@ dADS-1 .34
·i 0 .90

- 1. 24

Q .5) X= IS h = 2S Edi]

PE216)

PAG
To UK 1 . 7) de-

= 0 . 95

G 1) n = 20 x= 22.9 6= 1 .
S

1) x=22. 9

2) C1 9SX .

( - E ,
y + c) ·oe

8

L
0 . 97S

E = z. Zesty = 1. 96

= 1 . 96 .

E = Ans

* I Ans
2223 , 23 .56)Groce chock : -

** et23shi



Q↳ n = 16 X = 220 6= IS azoso

( -E + E)

~0 .900
Elt [

0
- 95

E= 1 . 753 .
2.

[0 . 9s (5) = 1. 7,To

En Ans
L

= 209 .

03 , 230 . 96) X Check
* I Ans 209. 07 + 250 ·

-
2

Q . 3) n=48 X= 45 . 3 2.%= 3. 8

1 220 =XV

920 . 90

C: 1(4v
o .
OS

( - E ,
X + E) ↑

00

!

=zi C

Zo .9/

E = 164).
1
.
64

E= Ans

X =Ans = (7. 4 , 46.2)



Q-1) What inc . C. I widh ? G .S) (26.
2
, 301)

! ( - E ,
X+

--- X=2
moreh reas it

/ X = 20 ·S

mas variadiy-

mre CL
fr Ein

26.22X - E 30=5 + )

Learn
E = X - 26. 2 30 -) -X= 7

Less Sig Can
E= 1 .95 E = 1. 9)

Q .6) (2,37)9 = 6 . 95
, n = 36

x = 22320
~G .95

f . d = ?
I

-1 .
96 Zo .9ts

↳+
1 . 96

35 =28 + 1 . 96 . 6

⑳

E10 .37 01



Q . H) (25 ,3) (20 . 9) a = 00s
, h

= 10

x = 2S+3
=
30 ~O .80
z

[

E0 .91,
/

25 X - 70.97, 24 ·
= 2 .262

2 S= 10 - 2. 262 . G

Sto

: 61 7
W

-> At 90% Ch

Y = 30 =I Garla
6= 7 60.999)

2-02/
t=t
E = 2 . 021.uy A
L

XIE = 301 Ams = [23 . 77
, 36 . 23)

Eny



Q ./ X :? Sdes 1=? C.
L= 0

. 9

E= 15 kg

0 .02

Er Zesti,g #0.as
[

: n = 20 . sty · G 20 . 9)

Cl. 96
n = 1: 96·

2

is
Q. 62164

L=8 = 2E ·G .ga
E = h -

[
20 . 99s

=zig 2 . St

n =:·)" = [ . St . So
Q.) P: 0 .

6 n =100

P0 .6)

·zo



Q. 2) P=0. 2 ,
1) ~N0 .

2,00
2)p(19)

Col . B

p)=Po⑳0632
Q .1) 121 ,

X =10
,
C1 = 0 .99

&

( ,U 09
e

( -
E, +7) ↑

↑ - zo . 99sf, + Zone
to

(2 . 57)

0712 . 21C) Oh 01

Q.4

10.
2)1.t:50



3) (I = 0 . 9)

(L,r)

↑ I ZorgtaS ~l 0 . 95 ,
002,

0 .6211. 96 . 0 .
05/ [

0 . ge

6 . 59 ,
0 . 65/ 20. 975

1. 96

Q) C . +20 . a)
, 5 =0

· ·

L= 2 E ~" O.gs00
0 .14 = 2 E

: E= 0.
of

L
20 .976

n2)? 1.
96

n = 196 = 0 .of
? (0 .)e


